Pay Estimate Created Date: August 2, 2021

Progress Estim 31	ate Number	Contract ID Prime Contractor	200320-A03 Emery Sapp & Sons,	Pay Period Start Inc. Pay Period End		Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,050,897.18 \$416,787.57 \$2,467,684.75				
Approval Date							By User				
August 2, 2021		Generated and Approved (and should be considered Draft) at the Project Office Level by									
August 2, 2021		Re	eviewed and Approved	l (and should be conside	red Draft) at the	Resident Engineer Level by	stronk1				
August 3, 2021		Reviewed and Approved at the Central Office Controllers Office Level by									
Original Comp	riginal Completion Date Current Completion Date Actual Completion Date % of Current Contract Amou										
December	1, 2020	July 15	, 2021	July 14, 2021		99.82%					

Cor	tract Informationa	I Dates		Miles	tones		
Date Description	Original Completion Date	Current Completion Date	Date Description	Original Completion Date	Current Completion Date	Days Remaining on Milestone	Diary Charge Days
Acceptance Date			Milestone - Calendar Time J1S3377 Calendar Days	August 9, 2021	August 9, 2021	Milestone Complete	
Awarded Date	April 1, 2020	April 1, 2020					
Letting Date	March 20, 2020	March 20, 2020					
Notice to Proceed Date	June 1, 2020	June 1, 2020					
Open to Traffic Date							
Work Began Date	May 26, 2021	May 26, 2021					

Contract Total	Pay For Estin	nate No. 31							
				This Estimate	Previo	ous		To Date	
200320-A03 Contract Total ems Paid This	Gross Incent Disinc Liquid Other Payable This	centive lated Damage Contract Adj Estimate:	nents e	\$1,326.00 \$49,968.59 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$51,294.59	\$23,76 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00			\$2,463,354.8 \$73,753.90 \$0.00 \$0.00 \$0.00 \$0.00 \$2,537,108.7	
Project Number	Line Number	Item Code		Item Description		Unit	Unit Price	Current Installed Qty	Current Installed Amount
J1S3377	0050	6123000A	TRUCK O (TMA)	R TRAILER MOUNTED AT	TTENUATOR	EA	\$750.000	1	\$750.00
	0080	6161005	CONSTRU	UCTION SIGNS		SQFT	\$9.000	64	\$576.00
Project J1S33	77 - Total								\$1,326.00

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1S3377	0010	MISC.	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',30.80000 - 30.80000, 'is applied (if non-zero).	1,449.04	\$30.80	\$44,630.43
	0020	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',65.40000 - 65.40000, 'is	53.7	\$65.40	\$3,511.98



Pay Estimate Created Date: August 2, 2021

Progr		timate Number 31	Contract ID Prime Contr	200320- ractor Emery S	A03 Sapp & Sons,	Inc. Pay Period End August 1, 2021 Net Ch	al Contract A ange Order / it Contract A	Amount \$4	,050,897.18 16,787.57 ,467,684.75
Project Number	Line No.	Item Desc	ription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J1S3377						applied (if non-zero).			
	0060	FURNISHING AN BITUMINOUS FOR CLASS DEPTH PAVEME	S MATERIAL S C PARTIAL	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',82.20000 - 82.20000, 'is applied (if non-zero).	20.31	\$82.20	\$1,669.48
	0070		OR CLASS C TIAL DEPTH ENT REPAIR	Overrun		Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',4.55000 - 4.55000, 'is applied (if non-zero).	34.44	\$4.55	\$156.70
	0120	4 IN. YELLOW WATERBORNE MARKING PA	PAVEMENT	MaterialCredit			117,038	\$0.09	\$10,533.42
	0120	4 IN. YELLOW WATERBORNE MARKING PA	PAVEMENT	Material			-117,038	\$0.09	(\$10,533.42)
Total									\$49,968.59



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information												
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work								
J1S3377	FAS- S102(015)	Pavement repair and resurface	В	ATCHISON	from I-29 to US 59 near Rock Port								
Totals by Job Numbers													

J1S3377	This Estimate	Previous	To Date
Posted Item Pay	\$1,326.00	\$2,462,028.83	\$2,463,354.83
Gross Item Adjustments	\$49,968.59	\$23,785.31	\$73,753.90
Gross Item Pay	\$51,294.59	\$2,485,814.14	\$2,537,108.73
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J1S3377, Item 6206001C, Project Item Line Number 0120, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	No paint certs submitted from contractor, called ESS project manager. No certs yet	veerj1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J1S3377, Item 6206001C, Project Item Line Number 0120, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	No paint certs submitted from contractor. Called ESS project manager, no certs yet.	veerj1	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generat

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Im.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
00320-A03	J1S3377	0001	0010	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,444.00	1,449.04	4,893.04	TONS	4,893.04	\$30.80	\$150,705.63
		0001	0020	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	23,667.30	53.70	23,721.00	TONS	23,721.00	\$65.40	\$1,551,353.40
		0001	0030	4071005	TACK COAT	18,671.00	-5,436.00	13,235.00	GAL	13,235.00	\$2.00	\$26,470.00
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	-1.00	1.00	EA	1.00	\$750.00	\$750.00
		0001	0060	6133020	FURNISHING AND PLACING BITUMINOUS MATERIAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	1,749.50	358.62	2,108.12	TONS	2,108.12	\$82.20	\$173,287.46
		0001	0070	6133021	REMOVAL FOR CLASS C PARTIAL DEPTH PAVEMENT REPAIR	7,951.50	617.94	8,569.44	SQYD	8,569.44	\$4.55	\$38,990.95
		0001	0080	6161005	CONSTRUCTION SIGNS	1,515.00	0.00	1,515.00	SQFT	1,326.50	\$9.00	\$11,938.50
		0001	0090	6161009	FLAG ASSEMBLY	4.00	-4.00	0.00	EA	0.00	\$16.90	\$0.00
		0001	0100	6161025	CHANNELIZER (TRIM LINE)	16.00	-4.00	12.00	EA	12.00	\$35.00	\$420.00
		0001	0110	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$146,650.60	\$0.00
		0001	0120	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	131,337.00	14,961.00	146,298.00	LF	117,038.00	\$0.09	\$10,533.42
		0001	0130	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	592.00	0.00	592.00	SQYD	592.00	\$9.15	\$5,416.80
		0001	5001	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$137,886.60	\$137,886.60
		0001	5002	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$8,764.00	\$8,764.00
		0001	5003	1099901	MISC.Invenergy Project Delay Cost	0.00	1.00	1.00	LS	1.00	\$346,838.08	\$346,838.08
	Project J	1S3377 - To	otal Value	Posted to D	Date as of Report Generated Date							\$2,463,354.85
00320-A03 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$2,463,354.85



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J1S3377

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted		Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0050	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	7/22/21	7/23/21	1.00		Contractor applied 4" Yellow Standard Waterborne Pavement Marking Paint, with Type P Beads using 1 Truck Mounted Attenuator on 7/14/21	.0103	CL	15.744	CL	
0080	6161005	CONSTRUCTION SIGNS	7/22/21	7/23/21	64.00	SQFT		.0103	Rt Lt of CL	15.744	Rt Lt of CL	

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Aug 4, 2021

Contract ID:190621-F01

Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
. rojoot	LING	Decemption	Туре	Adjustment Type	Number	Date	Ву	7 into ant	
J1S3377	0010	MISC. AGGREGATE	Overrun	Overrun	30	Jul 16, 2021	SYSTEM	(\$44,630.43)	
		FOR BASE			31	Aug 2, 2021	SYSTEM	\$44,630.43	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',30.80000 - 30.80000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0010 -	Total						\$0.00	
	0020	BIT. PAVEMENT	Other Item Adjustment	ACAD	28	Jun 15, 2021	bennea2	\$14,257.61	See estimate 28 ac adjustment in Eproj
		MIXTURE PG64-22 (BP-1)			29	Jul 1, 2021	bennea2	\$37,969.26	AC Adjustment for BP1 Overlay, See E Projects for worksheet
					30	Jul 16, 2021	bennea2	\$26,479.34	AC Adjustment for BP1 Overlay
				ACAD - Tota	al			\$78,706.21	
			Other Item Ad	justment - To	tal			\$78,706.21	
			Overrun	Overrun	30	Jul 16, 2021	SYSTEM	(\$3,511.98)	
					31	Aug 2, 2021	SYSTEM	\$3,511.98	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',65.40000 - 65.40000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0020 -	Total						\$78,706.21	
	0060	FURN & PLACE BIT.	Other Item Adjustment	ACAD	28	Jun 15, 2021	bennea2	\$1,571.78	Class C repairs see eproj document
		MATL FOR CL C PARTIAL			28	Jun 15, 2021	whitej	\$3,940.04	This is the AC Adjustment for Asphalt Repairs for Estimate 27.
					29	Jul 1, 2021	bennea2	\$69.29	AC Adjustment for Class C Repairs, See E Projects for worksheet
				ACAD - Tot	al			\$5,581.11	
			Other Item Ad	justment - To	otal			\$5,581.11	
			Overrun	Overrun		Jun 15, 2021	SYSTEM	(\$27,809.08)	
					29	Jul 1, 2021	SYSTEM	(\$1,669.48)	
					30	Jul 16, 2021	SYSTEM	\$27,809.08	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',82.20000 - 82.20000, 'is applied (if non-zero).
					31	Aug 2, 2021	SYSTEM	\$1,669.48	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',82.20000 - 82.20000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0060 -	Total						\$5,581.11	
	0070	REMOVAL FOR CLASS C PARTIAL	Overrun	Overrun	28	Jun 15, 2021	SYSTEM	(\$2,654.93)	
		DEPTH PAVT REPAIR			29	Jul 1, 2021	SYSTEM	(\$156.70)	
					30	Jul 16, 2021	SYSTEM	\$2,654.93	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',4.55000 - 4.55000, 'is applied (if non-zero).
					31	Aug 2, 2021	SYSTEM	\$156.70	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',4.55000 - 4.55000, 'is applied (if non-zero).
				Overrun - T	otal			\$0.00	
			Overrun - Tota	al				\$0.00	
	0070 -	Total						\$0.00	
	0120	4 IN. YELLOW WATERBORNE PAVEMENT	Material		30	Jul 16, 2021	SYSTEM	(\$10,533.42)	



Line Item Adjustments by Estimate

Aug 4, 2021

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J1S3377	0120	MARKING	Material		31	Aug 2, 2021	SYSTEM	(\$10,533.42)	
				- Total				(\$21,066.84)	
			Material - Tota	I				(\$21,066.84)	
			MaterialCredit		31	Aug 2, 2021	SYSTEM	\$10,533.42	
				- Total				\$10,533.42	
			MaterialCredit	- Total				\$10,533.42	
	0120 -	Total						(\$10,533.42)	
J1S3377	J1S3377 - Total							\$73,753.90	
Overall -	Total							\$73,753.90	